50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs.

Sixth Semester B.E. Degree Examm“at,l%n, Aug./Sept.2020
Operations Reﬁearch

&

1  a. Explain six phases of Operation Research Study (06 Marks)
b. The Sigmaware manuf: tu %company has dlsconugugpd the production of a certain
unprofitable product w % has created considérable excess production capacity.
Management is cons1der‘ ‘evotlng this excess cdﬂ a‘&gt’y to one or more of 3 products. The
available capacity on the machine is given below ;
Macﬁm&Type Milling machitie 'Lathe machine | Grinder
Avall,able Time 400 hrs' | 300 hrs 150 hrs
The numb o%f?iachme hours required foﬁ‘?ﬁ?th unit of the respective product.
. Machine Type | Product 1 | Product 2 | Product 3
Milling machine 9 4 6
Lathe 5 0
Grinder 4 1
The sales department 1nd1caites@the sales potenti product 3 exceeds*20units/week. The
unit profit will be $15, $20;°825 respectively. T ob_]ectlve is to @;ermme how much of
each product the company should produce to ma%mme the profit. Formulate the LPP.
. (07 Marks)
C.
Maximize Z = 2«x1~«w+~«xz
Subject to x Ji(}
2x+ 5xz <60
‘X1t x, <18, (07 Marks)
2 a Deﬁﬁe‘ﬁ@lack variable and Surpl (04 Marks)
b. Solye the following LPP by"‘SI plex method ”"\\
_‘Maximize Z = 5x; + 4x,, ¥
3 Subject to 3x; + 5x3.5 218
Ao 5% + 2@% 1
where xi“"?‘xz >10. (10 Marks)
c. Explain the ¢ t of Tie — bre 06 Marks)
Phin o i ‘
3 a. Solvethe fol%ggwing LPP by.Big'— M method.
Maximize Z =3x -y =
Subject to 2x +y =2 {m°
x+3y<3 ¥
y<4,x,y20. (10 Marks)
b. Solve the followmngPP by Two — Phase method

Maximize Z =@®%2x 3y
Subject to 3x-Y—223
“WX—y+z>2
~ “’Where X,y=0. (10 Marks)
1of2
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a. Solve the following LPP by revised simplex method
Maximize Z = 2x; + X3
Subject to 3x; +4x,<6

6X1 +X2< 3

where x;, x> 0. (12 Marks)
b. Explain the following :
i) The essence of Duality theory (08 Marks)
a. Use Dual Simple method to solv
Minimize Z = 2x; + X,
Subject to 3x; +x2>3 g@
4x;+3x2,>6 & "
X1 +2x3> (10 Marks)
b. Briefly discuss about (10 Marks)
a. (06 Marks)
b.
(04 Marks)
¢. A company is spending Rs 1000 portation of its units from three plants to
4 distribution centers. The, suﬁply and demand ith unit cost.eftransportation are
given as Y i
’Capacity
10 (10 Marks)
18
a. ( ames
Strategy  iii) gﬁi‘(ed strategy iv) Pay off. (06 Marks)
ance property s
3 J 4
4 0 (08 Marks)
0p410|8
game by Graphieal method :
Player B
B; B, B; B,
8151719 (06 Marks)
6|6 |42
. (20 Marks)
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